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B skills Practice

Graphing Quadratic Functions
Complete parts a—c for each quadratic function. -

a. Find the y-mtercept, the equatmn of the axis:of symmetry, and the x-coordinate
- of the vertex,

b. Make a table of values that includes the vertex. -
_¢. Use this information to _graph the function.

Lf) = -2 2.f) =t~ dx+d 8. fw) =2 -6x+8
o
. i <
. @]
9 - E) (£ &
=
o $

Determine whethei each function hasa maximum or a minimum value, and .
'ﬁnd that value. Then state the domam and range of the functlon. '
4.fx) = e 5.ﬂx) | 6.ﬂx) x2+2x

.........

7. ) = —2¢% + 4% — 3 8.flx) = 842 + 12¢ + 3 9.f) =27 +4dx+1

10: fx) = 822 10 flw) = + 1 12, fix) = —2 + 6x — 15

", . Ghpyrght © GlencceMcGrawHil, a dhisor of The MoGaw-Hil Gornparies, c.

18.f(x) = 242 — 11 C 14.fx) =22 — 10x +6 1B fx) = ~202 4. 82 4 T
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Graphing Quadratic Functions

. Complete parts a-c for each quadratic function.

a. Firid the y-intercept, the equation of the axls of symmetry, and the x-coordinate
_of the vertex. ‘

'b. Make a table of values that includes the vertex.

c. Use this information to graph the function,

Lfx)=2*—8 + 15 2. flx) = —a% — dx + 12 8.fx) =22 -2 + 1

| | O}
o)

-4 ra

, Determine whether each functlon has a maximum or minimum value, and ﬁnd
" that value, Then state the domain and range of the function.

4.f@x)=22+2c-8 - 5.fx) =« —6x+ 14 6. v(x) = ~a? + 14x — 57

T.fx) = 222 + 4x — 6 8.flx) = —3 + 4x — 1 9.f(x)-_-__§xzq.3x‘_24 |

j‘“leGRAVITATION From 4 feet above a swimming pool, Susan throws a ball upward with a
velocity of 32 feet per second. The height A(t) of the ball ¢ seconds after S wa it
is given m&z + 82t + 4. For t > 0, find the maximum reached by the
“ ball and the tim t this height is reached.

11. HEALTH CLUBS Last y. SpoitsTime Athlotic Club charged $20 to participate'in
an aerobics class. Seventy people ed the classes. Thé club wants to increase the

class price this year. They expett to loséone customer for each $1 increase in the price.
~ a. What price S/h,ﬂlﬂdd: charge to maximizé the income from the aerobics classes?
. '/ - N L

E)./Whﬁi;/is the maximum income the SportsTime Athletic Club xpect to make?

Chapter4 - . 8 ‘Glencoe Algebra 2
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B skills Practice

Solving Quadrat:c Equations By Graphing
Use the related Agraph of each equation to detemune- its solutions.

L#+26-8=0 2.~ -6x-9=0 ~  8.3°+4+3=0
g =P8 |1 T
|| '2 —6 50| X i 1
-2 1
-4 §-2 2 | 4x I \ N N
\LIT 7 |
H— 78
’ 1 : [10=3@+4x+3 ]
[0 =2 +2x~3 | } I =4 | 6] x
TT¥TTT] : i

7

Solve each equation. If exact roots cannot be found, state the consecutwe integers
between which the roots are located.

4.2 —6x+5=0 B.oa®+9x—4=0 6.2 —6x+4=0
7] ' | R T [ LLLN
=1 10| X
g : 1o X
§ : ~Tol X
E
§ ,
&
s :
% | %) f . T ¥@
e o [ [x
g ;
. Chapter4 - : 13 ‘ Glencoe Algebra 2
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Solving Quadratic-Equations by Factormg
Write a quadratic equation in standard form with the given root(s).

1. 1,4 L 2. 6,9 :

8. -2, -5 4.0,7

N 13

5. -5 -8 6.-3,3
Factor each polyﬁomial.

7.m?+ Tm — 18- 8.2x-3x -5
9.422 + 4z — 15° S 10, 4p* + 4p — 24
11.3y* + 21y + 36 | 12. ¢ — 100

- Solve each equation by factoring.

18.x2=64 . 14.x2 — 100 = 0

16.x* ~3x +2=0 16.22 —4x +3=0
1’;.x2-lf2x—'3=0' f | 18.22 —3x —10 =0
19.2% — 62+ 5 =0 | 20,22~ 9x =0

2142 — 4x = 21 PomEe a 22, 22 +62-8=0
284"+ 60 -6=0 ' 24,342 — 13x — 10=0 -

}iNUMBER THEORY Find two consecutlve mtegers ‘whose product is 272,

Chapter 4 A. ‘ 19 Glencoe Algebra 2.
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-Skills Practlce

-Complex Numbers

Simplify.
1.1/99

3. /625 .

5.V —81x®

7. (35)_(+2i)(§i)

9. i"ﬁv
1L.(=3 + 58) + (18 = Ti)+
18.(7 = 6i)(é - 8i)

8 — 6i
B 5

Solve each equation.

17.3x24+3=0
19. 44 + 20 = 0

2L+ 18=0

93,20 — 12i.= 5¢ + (dm)i

25.(4 + 0 + 2m)i =9 + 14i -

Chapterd4 -

LT TR IS e e e e ra—s e 2y
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P
V 7
6.V—23 - V=26

8.il!

12. (10 ~ 4i) — (7

110 (7 - 88) + (-12 - 4i)

88

14. (3 + 4iX3 — 4i)

_16' 4 + 2i

18. 5x* + 125 = 0
20, -x2-16 =0

22, 8+% + 96 = 0

24.¢-16i =3 —

Find tﬂeya’lues of £ and m that make each equation true.

@2m)

26.8 —m) + (70— 14N =1+7i

26
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Y Practice

Complex Numbers
Simplify. ,
1.vV=86 . . eNTEVTE .. 8N-TBiVE
4. (~30)(4i)(~54) . (T§)%(6i) ., 6. 82
7.4% 8.1 9. (5 — 2i) + (—13 — 8i)
10.(7 — 66) + 9 +11))  11.(~12 + 48) + (15 + 21)  12. (10 + 158) — (48 — 30i)
13.(28 — 4i) — (10— 30))  14.(6 — 4i)(6 + 4) 15.(8 - 11i)(8 — 11§)
Y . may : Py a: 6+5z
16. (4 + 3i)(2 - 5i) 17. (7 +2i)(9 - 6i) 18 T
2 3—1 2 —4i
19'7—8’;’ .- .20 -1 : g 2L T3 1+3¢
g Solve each equation. |
E‘ 22,512 + 35 = 0 | | 28.2m? + 10 = 0
_ 24.4m* + 76 =0 |  28.-2m? - 6=0
g 26, —5m? — 65 = 0 N 217, I‘xz +12=0
£ . I o .
5 Find the values of £ and m that make each equation true.
g 28.15 — 28i = 3¢ + (4m)i 29, (6~ &) + (8m)i = —12 + 2Ti 5
g : : : | <
- 30.(3£'+4)+(3-—m)i-16-—3i 31(7+m-)+(4f—10)i—3—6i c
. 0
: 2. ELECTRICITY The 1mpedance in one part of a series circuit is 1 + 3j ohms and the §
£ im in another part of the ¢ircuit is 7 — 55 ohms. Add w—tmﬁb"éi‘s to =
o find the total 1m§‘€daaee%c1rcmt .
..-""""‘
g 83. ELECTRICITY Using the formula- E”)Z-gﬁﬁd‘thexoh@ge E in a circuit when the current

—

I1s:3/——1amp_aaad the impedance Z is 3 + 2j ohms. \\

Chapter 4 , ) 27 S Glencoe Algebra 2
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